= SADCHMH

K#
fHH
A
BRI

N
=
F—

EtE F

thH
alll
Ak
HE
XH
K

5B

e

INEHE EE

hnek
=%
ks
ESp:
INFR
INRR
INFR
INRR
NI
¥
Ik
£18
]It
£
&k
=5
AEK

T B

oSN

V2N
]m!
=8
% H
H
1BE

AHH

—th
B
E: Yk
FX

T
H;

In o
o N

H

feR—
Rk
HHfEF
A7

i
3
3
e
B
B
i
(3
i
3
B
3
B
3
B
3
3
B
3
B
3
B
3
B
3
B
3
B
Fx
e
3
e
B
B
3
L&

HRIE TR
D
FER
BER
BN
jtisE
BHIR
REAR
#E
53
e
EER
AR
AR
AR
R AR
FHR
EHR
ARINR

~
\]
/)

N
Y

AW
W

]
Y

m

BHER
RIRER
IR
KBRAF
=58
BER
RIEER
KBRAF
pap il
KBRAF

h X ET4F
X
ramm
P&E™
PRiR™
FLIRT
mh
A&
i
K&
KA
LAl
EE
PNz
HiE™
iR
AR
AEEM
AEEM
T
ram
FEH

Z il
Z B
PNt
Nl
HEAX
K#h
PN T}
KET
thEeTh
no
HEARX
PN
AEEM
]

505 I TIRE

ZHie%E
—& 12,000
—& 12,000
—& 14,000
—& 14,000
—% 37,000
—& 12,000
—%& 12,000
—< 14,000
—%& 12,000
—< 12,000
— % 14,000
—< 14,000
—%& 12,000
—& 12,000
—%& 12,000
—& 12,000
—& 66,000
—& 14,000
—%& 14,000
—& 10,000
—% 10,000
—& 29,000
—& 12,000
—& 12,000
—% 12,000
—% 12,000
—% 12,000
—% 12,000
—& 27,000
—% 29,000
—& 9,000
—%& 14,000
—& 48,000
—% 12,000
—& 15,000
—& 15,000

H HHHHABEBEHEAHEAEHEAEAEBHEAEAHEHIBEAHEHAEHEIEHIEAEHRABEHEHIBEHIEAERABEBIHEHIAEHABEIA EH



K4
BR FiE
iHE &

DURAN
JESSAIRADER

EH Eth
£H £33}
HE THE
Y H#&
R —if
it BEzBh
hE
Fa KB
FELL B
S
&I &
w® th
SR
a3
'S AEF
'S BEHF
8l &z
BH —F
RN KEEB
AE LB
¥
fliAst
& B
R
B3]
KE BAR
=¥ L9
~ME Bz
BE EiC
TFE XX
TR M
LT FIBA
ILE BE
= #E

g <ok

B

EERE T
S S B M

o
>

BT IR
RIAD
FER
BN

AR
EER
0

_r

i
i

\]
Y

>+
3
Jm

sl
FER
R AR
jtiEE
EHR
g
BN
AR
HER
KBz KT
AR
REHR
R ERFF
HER
KBz FF
jtisE
EER
BER
KB FF
jtisE
FER
AR
R
BHE
T R
BHE
AR
RAD

Rl

\]
/)

Jm

Jm

Jm

i X ET 4T

X —%
ko] —%
1R —%
NEFH —F
BT —&
et -
Ko —&
Kt —&
T —&
HEHAR —%
FLiR —&
R —&
Lo —%
BFH —&
fE™ — &
IRRX —%
BIm —®
NENT) —&
BT E —&
BERX —&
RERT —%
NI —&
FAEH —%
N —&
BT —&
wEh —&
=9)11; 5} —&
=Y —%
FLiR —&
LGl —%&
BRE —%
BT —%
FeE] W5 T —&
f|mh —&
FeE] W T —&
ETETH —%
FRAR —%

Zr Mt 58
12,000
12,000

7,000

12,000
14,000

7,000
12,000
16,000

1,000
12,000
14,000
12,000

1,000
13,000
12,000
10,000
12,000

2,000
12,000
12,000
28,000
12,000
12,000
12,000
12,000
10,000
12,000
15,000
12,000
12,000
11,000
20,000
12,000
11,000
15,000
25,000
15,000

H H H

H H3ABHEHEHAHEHAEAHRHEAHEHAEHEIEAHEHIEHAEAEAEHABEIEIAERABEHIEAERABEBAEAERABEIEA H H



K4 B ERTIR i X ET 4T FHEE
#E = B T E sz —%& 25,000
TH f#= (E S 4 =:] ] fuETH —%& 12,000
F BE B ORER KIEH = 12,000
= BE B ORE K& —%& 15,000
m B o EWR BHm G 15,000
m B (E S i 1] B¥m —% 7,000
iR F—AB B BEB marh —% 31,000
EE RETF B EBR ZESHT —= 12,000

H B B B H3H H H



